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x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
”strong=”c/5975|���������/�� x-
morph=”OSHM:HC/Vqw3ms” ”strong=”d/3220|�����/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”m/2197|��/��������/��
x-morph=”OSHM:HR/Vqc/Sp3ms” x-
cantillationLevel=”0”� 16 ”strong=”c/3372|�����������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”d/376|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0.0”
”strong=”3373|�������� x-morph=”OSHM:HNcfsa”
strong=”1419|��������� a” x-morph=”OSHM:HAafsa”
x-cantillationLevel=”1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/2076|������������/��
x-morph=”OSHM:HC/Vqw3mp”��������|strong=”2077”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.0”
”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1” ”strong=”c/5087|����������/���
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.0”
”strong=”5088|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0”�

2 2 KJV:Jonah.1.17 ”strong=”c/4487|������/��
x-morph=”OSHM:HC/Vpw3ms”
”strong=”3068|������� x-

morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”1709|����� x-morph=”OSHM:HNcmsa”
strong=”1419|�������� a”
x-morph=”OSHM:HAamsa” x-
cantillationLevel=”1.1” ”strong=”l/1104|�������/��
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”3124”
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”3124|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”b/4578|������/���
x-morph=”OSHM:HR/Ncmpc”
”strong=”d/1709|�����/�� x-
morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.1” ”strong=”7969|����������
x-morph=”OSHM:HAcmsa” ”strong=”3117|�������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0.0” ”strong=”c/7969|����������/��
x-morph=”OSHM:HC/Acmsa”
”strong=”3915|�������� x-
morph=”OSHM:HNcmpa” x-
cantillationLevel=”0”� 2 3
KJV:Jonah.2.1 ”strong=”c/6419|�������������/��
x-morph=”OSHM:HC/Vtw3ms”
”strong=”3124|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”430|�/�������� x-
morph=”OSHM:HNcmpc/Sp3ms” x-
cantillationLevel=”1” ”strong=”m/4578|�������/��
x-morph=”OSHM:HR/Ncmpc” x-
cantillationLevel=”0.0” ”strong=”d/1710|�������/��
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”0”� 3 4
KJV:Jonah.2.2 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-

2+
3+
4+
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cantillationLevel=”1.0.1” ”strong=”7121|���������
x-morph=”OSHM:HVqp1cs” x-
cantillationLevel=”1.0.0.0” strong=”m/6869|�������/��
b” x-morph=”OSHM:HR/Ncfsa”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.0.0” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”c/6030|���/��������/���
b” x-morph=”OSHM:HC/Vqw3ms/Sp1cs”
x-cantillationLevel=”1” ”strong=”m/990|�������/��
x-morph=”OSHM:HR/Ncfsc” ”strong=”7585|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
”strong=”7768|�������������
x-morph=”OSHM:HVpp1cs” x-
cantillationLevel=”0.0” ”strong=”8085|�����������
x-morph=”OSHM:HVqp2ms” strong=”6963|�/������
a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0”� 4 5
KJV:Jonah.2.3 ”strong=”c/7993|���/������������/��
x-morph=”OSHM:HC/Vhw2ms/Sp1cs”
”strong=”4688|���������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1.1.0” ”strong=”b/3824|������/���
x-morph=”OSHM:HR/Ncmsc”
”strong=”3220|�������� x-
morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.1” ”strong=”c/5104|������/��
x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”5437|���/���������
x-morph=”OSHM:HVmi3ms/Sp1cs”
x-cantillationLevel=”1” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”��/�������������|strong=”4867”
x-morph=”OSHM:HNcmpc/Sp2ms”
”strong=”c/1530|��/�������/��
x-morph=”OSHM:HC/Ncmpc/Sp2ms”
x-cantillationLevel=”0.0” strong=”5921|�/�����
a” x-morph=”OSHM:HR/Sp1cs”
strong=”5674|�������� a”
x-morph=”OSHM:HVqp3cp” x-
cantillationLevel=”0”� 5 6
KJV:Jonah.2.4 ”strong=”c/589|������/��

x-morph=”OSHM:HC/Pp1cs” ”strong=”559|�����������
x-morph=”OSHM:HVqp1cs” x-
cantillationLevel=”1.1” ”strong=”1644|��������������
x-morph=”OSHM:HVNp1cs” x-
cantillationLevel=”1.0” ”strong=”m/5048|�������/��
x-morph=”OSHM:HR/R” strong=”5869|��/�������
a” x-morph=”OSHM:HNcbdc/Sp2ms”
x-cantillationLevel=”1” ”strong=”389|�����
x-morph=”OSHM:HTa” x-cantillationLevel=”0.1.0”
”strong=”3254|�������� x-
morph=”OSHM:HVhi1cs” ”strong=”l/5027|��������/��
x-morph=”OSHM:HR/Vhc” x-
cantillationLevel=”0.1” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”1964”
x-morph=”OSHM:HNcmsc” x-
cantillationLevel=”0.0” ”strong=”6944|��/��������
x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”0”� 6 7
KJV:Jonah.2.5 ”strong=”661|���/��������
x-morph=”OSHM:HVqp3cp/Sp1cs”
”strong=”4325|������� x-
morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.1.0” ”strong=”5704|���
x-morph=”OSHM:HR”��������|strong=”5315”
x-morph=”OSHM:HNcbsa” x-
cantillationLevel=”1.1” ”strong=”8415|��������
x-morph=”OSHM:HNcbsa” x-
cantillationLevel=”1.0” ”strong=”5437|���/���������
x-morph=”OSHM:HVmi3ms/Sp1cs”
x-cantillationLevel=”1” ”strong=”5488|�����
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.0” ”strong=”2280|��������
x-morph=”OSHM:HVqsmsa” strong=”l/7218|�/�������/��
a” x-morph=”OSHM:HR/Ncmsc/Sp1cs”
x-cantillationLevel=”0”� 7 8
KJV:Jonah.2.6 ”strong=”l/7095|��������/��
x-morph=”OSHM:HR/Ncmpc”
”strong=”2022|������� x-
morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.1.0” ”strong=”3381|�����������
x-morph=”OSHM:HVqp1cs” x-
cantillationLevel=”1.1” ”strong=”d/776|������/��

5+
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x-morph=”OSHM:HTd/Ncbsa” x-
cantillationLevel=”1.0.0” ”strong=”1280|��/���������
x-morph=”OSHM:HNcmpc/Sp3fs”
”strong=”1157|�/������� x-
morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1.0” ”strong=”l/5769|�������/��
x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/5927|�������/��
x-morph=”OSHM:HC/Vhw2ms”
”strong=”m/7845|��������/��
x-morph=”OSHM:HR/Ncfsa” x-
cantillationLevel=”0.0.0” strong=”2416|�/������
e” x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”0”� 8 9
KJV:Jonah.2.7 strong=”b/5848|�����������/���
c” x-morph=”OSHM:HR/Vtc”
strong=”5921|��/���� a” x-
morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1.1.0” ”strong=”5315|�/��������
x-morph=”OSHM:HNcbsc/Sp1cs” x-
cantillationLevel=”1.1” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”2142|�����������
x-morph=”OSHM:HVqp1cs” x-
cantillationLevel=”1” ”strong=”c/935|��������/��
x-morph=”OSHM:HC/Vqw3fs”
”strong=”413|���/������ x-
morph=”OSHM:HR/Sp2ms” x-
cantillationLevel=”0.1.0” ”strong=”8605|�/�����������
x-morph=”OSHM:HNcfsc/Sp1cs” x-
cantillationLevel=”0.1” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”1964”
x-morph=”OSHM:HNcmsc” x-
cantillationLevel=”0.0” ”strong=”6944|��/��������
x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”0”� 9 10
KJV:Jonah.2.8 ”strong=”8104|�������������
x-morph=”OSHM:HVprmpa” x-

cantillationLevel=”1.0” ”strong=”1892|�������
x-morph=”OSHM:HNcmpc”��������|strong=”7723”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1” strong=”2617|�/��������
a” x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”0.0” strong=”5800|����������
a” x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”0”� 10 11
KJV:Jonah.2.9 ”strong=”c/589|������/��
x-morph=”OSHM:HC/Pp1cs” x-
cantillationLevel=”1.1.1” strong=”b/6963|�����/���
a” x-morph=”OSHM:HR/Ncmsc”
”strong=”8426|�������� x-
morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1.0”
”strong=”2076|���������� x-
morph=”OSHM:HVqh1cs”��/�����|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-
cantillationLevel=”1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”5087|�����������
x-morph=”OSHM:HVqp1cs” x-
cantillationLevel=”1.0” strong=”7999|������������
a” x-morph=”OSHM:HVph1cs” x-
cantillationLevel=”1” ”strong=”3444|�/�����������
x-morph=”OSHM:HNcfsa/Sh” x-
cantillationLevel=”0.0” ”strong=”l/3068|������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0”� � 11 12
KJV:Jonah.2.10 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”l/1709|�����/�� x-
morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/6958|�������/��
x-morph=”OSHM:HC/Vhw3ms”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3124”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”�����������/���|strong=”d/3004”
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”0”� �3 ”strong=”c/1961|������/��

x-morph=”OSHM:HC/Vqw3ms”
9+
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”strong=”1697|����� x-
morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3124”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”8145|�������� x-
morph=”OSHM:HAofsa” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0”� 2 strong=”6965|�����
b” x-morph=”OSHM:HVqv2ms” x-
cantillationLevel=”1.0.0” ”strong=”3212|�����
x-morph=”OSHM:HVqv2ms” ”strong=”413|���
x-morph=”OSHM:HR”�����������|strong=”5210”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”d/5892|�����/�� b”
x-morph=”OSHM:HTd/Ncfsa”
strong=”d/1419|����������/��
a” x-morph=”OSHM:HTd/Aafsa” x-
cantillationLevel=”1” ”strong=”c/7121|������/���
x-morph=”OSHM:HC/Vqv2ms” 13
We agree with both BHS 1997
and BHQ on an unexpected read-
ing. ”strong=”413|���/������
x-morph=”OSHM:HR/Sp3fs” x-
cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”����������/���|strong=”d/7150”
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”595|��������
x-morph=”OSHM:HPp1cs” x-
cantillationLevel=”0.0” ”strong=”1696|�������
x-morph=”OSHM:HVqrmsa” ”strong=”413|��/������
x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”0”� 3
strong=”c/6965|�������/�� b”
x-morph=”OSHM:HC/Vqw3ms”
”strong=”3124|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0.1”
”strong=”c/3212|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”1.0.0” ”strong=”413|���
x-morph=”OSHM:HR”�����������|strong=”5210”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”

14 We agree with both BHS 1997
and BHQ on an unexpected reading.
”strong=”k/1697|������/���
x-morph=”OSHM:HR/Ncmsc”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/5210|����������/��
x-morph=”OSHM:HC/Np” x-
cantillationLevel=”0.1.1” ”strong=”1961|��������
x-morph=”OSHM:HVqp3fs” strong=”5892|����
b” x-morph=”OSHM:HNcfsa”�����������|strong=”1419
a” x-morph=”OSHM:HAafsa” x-
cantillationLevel=”0.1.0” ”strong=”l/430|��������/���
x-morph=”OSHM:HR/Ncmpa” x-
cantillationLevel=”0.1” ”strong=”4109|���������
x-morph=”OSHM:HNcmsc” x-
cantillationLevel=”0.0” ”strong=”7969|����������
x-morph=”OSHM:HAcmsc” ”strong=”3117|�������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0”� 4 strong=”c/2490|�������/��
c” x-morph=”OSHM:HC/Vhw3ms”
”strong=”3124|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”l/935|�����/�� x-
morph=”OSHM:HR/Vqc” strong=”b/5892|�����/��
b” x-morph=”OSHM:HRd/Ncfsa” x-
cantillationLevel=”1.1” ”strong=”4109|���������
x-morph=”OSHM:HNcmsc” x-
cantillationLevel=”1.0” ”strong=”3117|�����
x-morph=”OSHM:HNcmsa” ”strong=”259|������
x-morph=”OSHM:HAcmsa” x-
cantillationLevel=”1” ”strong=”c/7121|���������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”0.2.0” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”0.2” ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0”
”strong=”705|������������ x-
morph=”OSHM:HAcbpa” ”strong=”3117|�����
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.1” ”strong=”c/5210|����������/��
x-morph=”OSHM:HC/Np” x-
cantillationLevel=”0.0” ”strong=”2015|�����������
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x-morph=”OSHM:HVNrfsa” x-
cantillationLevel=”0”� 5 ”strong=”c/539|������������/���
x-morph=”OSHM:HC/Vhw3mp” x-
cantillationLevel=”1.0.0” ”strong=”376|���������
x-morph=”OSHM:HNcmpc” ”strong=”5210|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”b/430|��������/����
x-morph=”OSHM:HR/Ncmpa” x-
cantillationLevel=”1” ”strong=”c/7121|����������/��
x-morph=”OSHM:HC/Vqw3mp”������|strong=”6685”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.1.0” ”strong=”c/3847|�������������/��
x-morph=”OSHM:HC/Vqw3mp”
”strong=”8242|��������� x-
morph=”OSHM:HNcmpa” x-
cantillationLevel=”0.1” strong=”m/1419|�/���������/��
a” x-morph=”OSHM:HR/Aamsc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”c/5704|���/��
x-morph=”OSHM:HR/R”�/���������|strong=”6996
a” x-morph=”OSHM:HAamsc/Sp3mp”
x-cantillationLevel=”0”� 6
”strong=”c/5060|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/1697|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.2.0” ”strong=”413|���
x-morph=”OSHM:HR”�������|strong=”4428”
x-morph=”OSHM:HNcmsc” 15 We
agree with both BHS 1997 and
BHQ on an unexpected reading.
”strong=”5210|���������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.2”
strong=”c/6965|��������/�� b”
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”1.1.0” ”strong=”m/3678|��/�������/��
x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1.1” strong=”c/5674|���������/��
a” x-morph=”OSHM:HC/Vhw3ms”
”strong=”155|��/���������� x-
morph=”OSHM:HNcfsc/Sp3ms” x-
cantillationLevel=”1.0” strong=”m/5921|�/������/���
a” x-morph=”OSHM:HR/R/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/3680|������/��
x-morph=”OSHM:HC/Vpw3ms”

”strong=”8242|����� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” ”strong=”c/3427|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”������/���|strong=”d/665”
x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 7
”strong=”c/2199|���������/��
x-morph=”OSHM:HC/Vhw3ms” x-
cantillationLevel=”1.1.1” ”strong=”c/559|���������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”1.1.0” ”strong=”b/5210|����������/���
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”1.1” ”strong=”m/2940|�������/��
x-morph=”OSHM:HR/Ncmsc”
”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0.0” strong=”c/1419|�/��������/��
a” x-morph=”OSHM:HC/Aampc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”1” ”strong=”d/120|������/��
x-morph=”OSHM:HTd/Ncmsa”
”strong=”c/d/929|���������/��/��
x-morph=”OSHM:HC/Td/Ncfsa” x-
cantillationLevel=”0.2.1.0” ”strong=”d/1241|�������/��
x-morph=”OSHM:HTd/Ncbsa”
”strong=”c/d/6629|������/��/��
x-morph=”OSHM:HC/Td/Ncbsa” x-
cantillationLevel=”0.2.1” ”strong=”408|����
x-morph=”OSHM:HTn”�����������|strong=”2938”
x-morph=”OSHM:HVqj3mp” x-
cantillationLevel=”0.2.0” ”strong=”3972|���������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0.2” ”strong=”408|����
x-morph=”OSHM:HTn”���������|strong=”7462
b” x-morph=”OSHM:HVqj3mp” x-
cantillationLevel=”0.1” ”strong=”c/4325|������/��
x-morph=”OSHM:HC/Ncmsa” x-
cantillationLevel=”0.0” ”strong=”408|���
x-morph=”OSHM:HTn”�����������|strong=”8354”
x-morph=”OSHM:HVqj3mp” x-
cantillationLevel=”0”� 8 ”strong=”c/3680|������������/��
x-morph=”OSHM:HC/Vti3mp”
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”strong=”8242|��������� x-
morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.1.1” ”strong=”d/120|������/���
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1.0” ”strong=”c/d/929|���������/��/��
x-morph=”OSHM:HC/Td/Ncfsa” x-
cantillationLevel=”1.1” ”strong=”c/7121|����������/��
x-morph=”OSHM:HC/Vqi3mp”
”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”430”
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.0” ”strong=”b/2394|��������/���
x-morph=”OSHM:HR/Ncfsa” x-
cantillationLevel=”1” ”strong=”c/7725|���������/��
x-morph=”OSHM:HC/Vqi3mp” x-
cantillationLevel=”0.1.1” ”strong=”376|������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.1.0” ”strong=”m/1870|��/��������/��
x-morph=”OSHM:HR/Ncbsc/Sp3ms”
strong=”d/7451|������/��� c”
x-morph=”OSHM:HTd/Aafsa” x-
cantillationLevel=”0.1” strong=”c/4480|���/��
a” x-morph=”OSHM:HC/R”������/���|strong=”d/2555”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”b/3709|����/������/���
x-morph=”OSHM:HR/Ncfdc/Sp3mp”
x-cantillationLevel=”0”� 9
”strong=”4310|���� x-morph=”OSHM:HTi”���������|strong=”3045”
x-morph=”OSHM:HVqrmsa” ”strong=”7725|��������
x-morph=”OSHM:HVqi3ms” x-
cantillationLevel=”1.1” ”strong=”c/5162|������/��
x-morph=”OSHM:HC/VNq3ms” x-
cantillationLevel=”1.0” ”strong=”d/430|���������/��
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1” ”strong=”c/7725|�����/��
x-morph=”OSHM:HC/Vqq3ms” x-
cantillationLevel=”0.0.0” ”strong=”m/2740|�������/��
x-morph=”OSHM:HR/Ncmsc”
”strong=”639|��/����� x-
morph=”OSHM:HNcmsc/Sp3ms” x-
cantillationLevel=”0.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”6|�������
x-morph=”OSHM:HVqi1cp” x-
cantillationLevel=”0”� 10
”strong=”c/7200|�������/��
x-morph=”OSHM:HC/Vqw3ms”

”strong=”d/430|���������/���
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1.1.0” ”strong=”853|����
x-morph=”OSHM:HTo”����/����������|strong=”4639”
x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1.1” strong=”3588|����
a” x-morph=”OSHM:HC”��������|strong=”7725”
x-morph=”OSHM:HVqp3cp” x-
cantillationLevel=”1.0” ”strong=”m/1870|�/���������/��
x-morph=”OSHM:HR/Ncbsc/Sp3mp”
strong=”d/7451|������/�� c”
x-morph=”OSHM:HTd/Aafsa” x-
cantillationLevel=”1” ”strong=”c/5162|����������/��
x-morph=”OSHM:HC/VNw3ms”
”strong=”d/430|���������/��
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”0.0.1” strong=”5921|���
a” x-morph=”OSHM:HR”������/���|strong=”d/7451
c” x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”0.0.0” strong=”834|������
a” x-morph=”OSHM:HTr”���������|strong=”1696”
x-morph=”OSHM:HVpp3ms” strong=”l/6213|�������/��
a” x-morph=”OSHM:HR/Vqc”����/���|strong=”l”
x-morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”0.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” strong=”6213|�������
a” x-morph=”OSHM:HVqp3ms” x-
cantillationLevel=”0”�4 strong=”c/7489|�������/��

a” x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3124”

x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”7451|������ c” x-
morph=”OSHM:HNcfsa” strong=”1419|���������
a” x-morph=”OSHM:HAafsa” x-
cantillationLevel=”1” ”strong=”c/2734|�������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”0.0” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 2
”strong=”c/6419|�������������/��
x-morph=”OSHM:HC/Vtw3ms”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.3.0”
”strong=”c/559|��������/�� x-
morph=”OSHM:HC/Vqw3ms” x-
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cantillationLevel=”1.1.3” ”strong=”577|�������
x-morph=”OSHM:HTj” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.2”
”strong=”i/3808|����/�� x-
morph=”OSHM:HTi/Tn”�����|strong=”2088”
x-morph=”OSHM:HPdxms” ”strong=”1697|�/�������
x-morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”1.1.1” ”strong=”5704|���
x-morph=”OSHM:HR”��/��������|strong=”1961”
x-morph=”OSHM:HVqc/Sp1cs” x-
cantillationLevel=”1.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”�/����������|strong=”127”
x-morph=”OSHM:HNcfsc/Sp1cs” x-
cantillationLevel=”1.1” strong=”5921|���
a” x-morph=”OSHM:HR”������|strong=”3651
c” x-morph=”OSHM:HTm” ”strong=”6923|������������
x-morph=”OSHM:HVpp1cs” x-
cantillationLevel=”1.0” ”strong=”l/1272|�������/��
x-morph=”OSHM:HR/Vqc” ”strong=”8659|�/�������������
x-morph=”OSHM:HNp/Sd” x-
cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”3045|�����������
x-morph=”OSHM:HVqp1cs” x-
cantillationLevel=”0.2.1” strong=”3588|�����
a” x-morph=”OSHM:HC” strong=”859|�������
a” x-morph=”OSHM:HPp2ms” x-
cantillationLevel=”0.2.0” ”strong=”410|����
x-morph=”OSHM:HNcmsa”���������|strong=”2587”
x-morph=”OSHM:HAamsa” ”strong=”c/7349|�������/��
x-morph=”OSHM:HC/Aamsa” x-
cantillationLevel=”0.2” ”strong=”750|�������
x-morph=”OSHM:HAamsc” ”strong=”639|����������
x-morph=”OSHM:HNcmda” x-
cantillationLevel=”0.1.0” strong=”c/7227|���/��
a” x-morph=”OSHM:HC/Aamsc”�������|strong=”2617
a” x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.1” ”strong=”c/5162|������/��
x-morph=”OSHM:HC/VNrmsa” x-
cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”������/���|strong=”d/7451
c” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0”� 3
”strong=”c/6258|�������/�� x-
morph=”OSHM:HC/D” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”3947|��� x-morph=”OSHM:HVqv2ms”�����|strong=”4994”

x-morph=”OSHM:HTe” ”strong=”853|���
x-morph=”OSHM:HTo”�/���������|strong=”5315”
x-morph=”OSHM:HNcbsc/Sp1cs” x-
cantillationLevel=”1.0” strong=”4480|����/������
a” x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” x-
cantillationLevel=”0.0.0” strong=”2896|�����
a” x-morph=”OSHM:HAamsa”
”strong=”4194|�/������ x-
morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”0.0” strong=”m/2416|�/������/��
e” x-morph=”OSHM:HR/Ncmpc/Sp1cs”
x-cantillationLevel=”0”� � 4
”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”d/3190|�������/��
x-morph=”OSHM:HTi/Vha” x-
cantillationLevel=”0.0” ”strong=”2734|������
x-morph=”OSHM:HVqp3ms” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp2fs” x-
cantillationLevel=”0”� 5 ”strong=”c/3318|�������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”3124|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
strong=”4480|��� a” x-morph=”OSHM:HR”�����/���|strong=”d/5892
b” x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”1.1” ”strong=”c/3427|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”1.0” strong=”m/6924|�������/��
a” x-morph=”OSHM:HR/Ncmsa”
strong=”l/5892|�����/�� b”
x-morph=”OSHM:HRd/Ncfsa” x-
cantillationLevel=”1” strong=”c/6213|��������/��
a” x-morph=”OSHM:HC/Vqw3ms”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
”strong=”8033|����� x-morph=”OSHM:HD”
x-cantillationLevel=”0.2.1.0” ”strong=”5521|�������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0.2.1” ”strong=”c/3427|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”8478|���/����������
x-morph=”OSHM:HR/Sp3fs” x-
cantillationLevel=”0.2.0” ”strong=”b/6738|�����/���
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x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”0.2” ”strong=”5704|����
x-morph=”OSHM:HR” x-cantillationLevel=”0.1.0”
strong=”834|������� a” x-
morph=”OSHM:HTr” ”strong=”7200|��������
x-morph=”OSHM:HVqi3ms” x-
cantillationLevel=”0.1” ”strong=”4100|���
x-morph=”OSHM:HTi”����������|strong=”1961”
x-morph=”OSHM:HVqi3ms” x-
cantillationLevel=”0.0” strong=”b/5892|�����/���
b” x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0”� 6
”strong=”c/4487|������/��
x-morph=”OSHM:HC/Vpw3ms”
”strong=”3068|������� x-
morph=”OSHM:HNp”����������|strong=”430”
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.1.1.2” ”strong=”7021|����������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.1.1.1” ”strong=”c/5927|�������/��
x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.1.0” �
strong=”m/5921|����/�� a” x-
morph=”OSHM:HR/R” ”strong=”l/3124|�������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”1.1.1” ”strong=”l/1961|�������/���
x-morph=”OSHM:HR/Vqc” ”strong=”6738|����
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”��/�������|strong=”7218
a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”l/5337|��������/��
x-morph=”OSHM:HR/Vhc” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1.0” strong=”m/7451|��/�������/��
c” x-morph=”OSHM:HR/Ncfsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/8055|����������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”3124|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”������������/���|strong=”d/7021”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.0” ”strong=”8057|���������
x-morph=”OSHM:HNcfsa” strong=”1419|���������
a” x-morph=”OSHM:HAafsa”
x-cantillationLevel=”0”� 7

”strong=”c/4487|������/��
x-morph=”OSHM:HC/Vpw3ms”
”strong=”d/430|���������/���
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1.1.0” strong=”8438|����������
b” x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1.1” ”strong=”b/5927|�������/���
x-morph=”OSHM:HR/Vqc” ”strong=”d/7837|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”l/4283|���������/���
x-morph=”OSHM:HRd/Ncfsa” x-
cantillationLevel=”1” ”strong=”c/5221|������/��
x-morph=”OSHM:HC/Vhw3fs”
”strong=”853|��� x-morph=”OSHM:HTo”������������/���|strong=”d/7021”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.0” ”strong=”c/3001|���������/��
x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0”� 8
”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.1.0” �
”strong=”k/2224|�������/��� x-
morph=”OSHM:HR/Vqc” ”strong=”d/8121|���������/��
x-morph=”OSHM:HTd/Ncbsa” x-
cantillationLevel=”1.1.1” ”strong=”c/4487|������/��
x-morph=”OSHM:HC/Vpw3ms”
”strong=”430|��������� x-
morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.1.0.0” ”strong=”7307|������
x-morph=”OSHM:HNcbsc” ”strong=”6921|�������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.1.0” ”strong=”2759|�����������
x-morph=”OSHM:HAafsa” x-
cantillationLevel=”1.1” ”strong=”c/5221|������/��
x-morph=”OSHM:HC/Vhw3ms”
”strong=”d/8121|���������/��
x-morph=”OSHM:HTd/Ncbsa” x-
cantillationLevel=”1.0.0” strong=”5921|���
a” x-morph=”OSHM:HR”�������|strong=”7218
a” x-morph=”OSHM:HNcmsc”
”strong=”3124|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”c/5968|������������/��
x-morph=”OSHM:HC/Vtw3ms” x-
cantillationLevel=”1” ”strong=”c/7592|����������/��
x-morph=”OSHM:HC/Vqw3ms”
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”strong=”853|��� x-morph=”OSHM:HTo”���/�������|strong=”5315”
x-morph=”OSHM:HNcbsc/Sp3ms” x-
cantillationLevel=”0.2.0” ”strong=”l/4191|�����/��
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0.2” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”0.1” strong=”2896|�����
a” x-morph=”OSHM:HAamsa”
”strong=”4191|�/������ x-
morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”0.0” strong=”m/2416|�/������/��
e” x-morph=”OSHM:HR/Ncmpc/Sp1cs”
x-cantillationLevel=”0”� 9
”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”430|��������� x-
morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.1.0” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”3124”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”d/3190|�������/�� x-
morph=”OSHM:HTi/Vha” ”strong=”2734|������
x-morph=”OSHM:HVqp3ms”���/���|strong=”l”
x-morph=”OSHM:HR/Sp2ms” x-
cantillationLevel=”1.0” strong=”5921|���
a” x-morph=”OSHM:HR”������������/���|strong=”d/7021”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”0.1” ”strong=”3190|�������
x-morph=”OSHM:HVha” ”strong=”2734|������
x-morph=”OSHM:HVqp3ms”�/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”0.0” ”strong=”5704|���
x-morph=”OSHM:HR”�������|strong=”4194”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0”� 10
”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” strong=”859|�������
a” x-morph=”OSHM:HPp2ms” ”strong=”2347|���������
x-morph=”OSHM:HVqp2ms” x-cantillationLevel=”1.1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”������������/���|strong=”d/7021”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1” strong=”834|�������

a” x-morph=”OSHM:HTr” x-cantillationLevel=”1.0.0”
”strong=”3808|��� x-morph=”OSHM:HTn”�����������|strong=”5998”
x-morph=”OSHM:HVqp2ms” ”strong=”b|��/���
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.0”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”1431|��/����������
x-morph=”OSHM:HVpp2ms/Sp3ms”
x-cantillationLevel=”1” strong=”s/1121|����/���
a” x-morph=”OSHM:HTr/Ncmsc”���������|strong=”3915”
x-morph=”OSHM:HNcmsa” ”strong=”1961|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0”
strong=”c/1121|���/�� a” x-morph=”OSHM:HC/Ncmsc”���������|strong=”3915”
x-morph=”OSHM:HNcmsa” ”strong=”6|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0”�
11 ”strong=”c/589|������/��� x-
morph=”OSHM:HC/Pp1cs” x-cantillationLevel=”1.1.0”
”strong=”3808|���� x-morph=”OSHM:HTn”
”strong=”2347|������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”1.1” strong=”5921|���
a” x-morph=”OSHM:HR”����������|strong=”5210”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”d/5892|�����/�� b” x-
morph=”OSHM:HTd/Ncfsa” strong=”d/1419|����������/��
a” x-morph=”OSHM:HTd/Aafsa” x-
cantillationLevel=”1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”3426|����
x-morph=”OSHM:HTm”��/�����|strong=”b”
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.1.1.1”
strong=”7235|��������� a” x-
morph=”OSHM:HVha” ”strong=”m/8147|��������/���
x-morph=”OSHM:HR/Acfda”����������|strong=”6240”
x-morph=”OSHM:HAcfsa” ”strong=”7239|�������
x-morph=”OSHM:HAcbsa” x-cantillationLevel=”0.1.1.0”
”strong=”120|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”3808|����
x-morph=”OSHM:HTn”�������|strong=”3045”
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.1.0”
”strong=”996|����� x-morph=”OSHM:HR”��/��������|strong=”3225”
x-morph=”OSHM:HNcfsc/Sp3ms”
”strong=”l/8040|��/��������/��
x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”c/929|��������/��
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.0”
strong=”7227|������� a” x-morph=”OSHM:HAafsa”
x-cantillationLevel=”0”�


